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1,02. 5 24 69,24 7,88 zt2,860 65,8 5 66,330 3,42 46,530 3,689
7.02. 5 24 69,74 7,93 203.440 6q q4 7,60 64,120 3,70 39.320 ? ??e

)3.02, 5 24 69,27 7,93 198,760 65,30 7,60 63 400 3,97 ?q ?an 3 009
)4.02, 5 24 69,22 7,88 204,060 65.56 7,54 64,680 366 39,380 3,237
)5.02. 5 24 69,24 792 205,190 Aq 4( 7,57 68,730 3.79 36.460 3,076
)6.02 5 24 69,2r 79s 200,400 65,31 761 63.400 3,90 37,000 3,103
)7.02. 5 24 69,23 793 206,880 65,63 7,58 166,010 360 40,870 3.338
)8,02, 5 74 69,23 7,88 212 550 65,79 7,53 166,920 344 45,630 3,635
)9,02 5 24 69,18 794 203.000 7,6t 162,770 40,230 3,287
10,02 5 74 69,23 792 200,740 65,37 7,59 164 460 386 35,680 3,0 18

1.02 5 24 69,23 791 704,620 65,45 7,55 70,200 378 34,420 2,939
202 5 24 69,27 7,90 210,320 65,55 754 73,390 3,72 36.930 3,1 13
3.02 5 24 ao fq 7,93 2r0,260 65,65 756 73.3r0 360 36,950 3,09 1
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s,02 5 24 69,22 787 217,330 65,87 752 167,370 ? ?q 49,960 3,916

16.02 5 24 69 70 793 202,470 65,56 7,60 t61,640 364 40,830 3,322
7.02 5 24 69 24 792 202,9r0 65 40 759 162,990 384 39,920 3,297

i8,02 24 6q )q /,92 202,920 65,44 759 t64,230 381 38 690 3,2r5
r9,02 5 24 69,25 789 209.340 65,60 754 169,860 365 39,480 J,ZOt
z0 02 24 69,25 7,91 209,890 6s,60 754 t74,100 3.65 35.790 3,028
102 5 24 69,23 7,91 2t2,920 65,74 754 173,230 3,49 39,690 3,263
/.02 24 ao l< 791 Ztr,870 b5,81 r70,t70 344 4r,700 3,379

-0eaHee 74,0( RO )4 7,9! 207,0?_8 65,5' 756 167,50: 3,66 ?q q?1 ? tqt
14roro \,RT 4554,6 1t 0,00t 3685,1 1C 0 00( 869,s0( 100 000 00( 71,6

OprerrrpoeovHo Ao KoHLla lrecrrla(r-)

l4roro 3a OeBparb 2015 :
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I loKa3aHn.q cqeTqnKoB Ha MoMeHt- cH9Thg AaHHbtX:

flara H speu s G l.r Ol l-xar J !,r Q2,f Kar C3.r G4 O.f xar floxa:aHnr fBC
2 02 l5 08:00 1368t6.t60 I 16165,480 l3 I 9.i96

22 02 l5 2i:00 I 4 I 087,430 I I 962i.380 33 86,471

0,00'racoBBpeur aeapniHurx crryaqri: 0,00 'racoB

l4roro c y.rerom cpeAHeMecqqHoi reMneparypbt xonoAHoil BoAbt txB=
Bcero c y.reroM HopMarilBHbrx norepb Ha yqacrKe or pa3Aena Ao y3na

fraeFiuri hHXeHep
(no 4ooepennocrr a6onenra)
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